
Multiply by Negative Powers of Ten (G)Find each product.
27 × 0.01 = 24 × 0.01 =
47 × 0.01 = 89 × 0.01 =
61 × 0.01 = 52 × 0.01 =
7 × 0.1 = 57 × 0.1 =
55 × 0.001 = 11 × 0.01 =
12 × 0.01 = 28 × 0.1 =
17 × 0.1 = 63 × 0.001 =
40 × 0.01 = 1 × 0.001 =
16 × 0.1 = 63 × 0.001 =
38 × 0.001 = 79 × 0.01 =
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Multiply by Negative Powers of Ten (G) AnswersFind each product.
27 × 0.01 = 0.27 24 × 0.01 = 0.24
47 × 0.01 = 0.47 89 × 0.01 = 0.89
61 × 0.01 = 0.61 52 × 0.01 = 0.52
7 × 0.1 = 0.7 57 × 0.1 = 5.7
55 × 0.001 = 0.055 11 × 0.01 = 0.11
12 × 0.01 = 0.12 28 × 0.1 = 2.8
17 × 0.1 = 1.7 63 × 0.001 = 0.063
40 × 0.01 = 0.4 1 × 0.001 = 0.001
16 × 0.1 = 1.6 63 × 0.001 = 0.063
38 × 0.001 = 0.038 79 × 0.01 = 0.79
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